ANT | -VANDAL PLATE, INSERT MOUNTING POST
THROUGH DOOR AND LOCK BODY ASSEMBLY THEN
SECURE TO ADAPTER AND PLATE ASSEMBLY USING

2 #8-32 SCREWS. STAINLESS STEEL CUP WASHER
4 PLACES

1/4-20 UNC STAINLESS STEEL SCREWS —— 1.438 TYP
INSERT THROUGH CUP WASHER AND TIGHTEN
TS SECURELY TO MOUNTING POST OF

ANT |-VANDAL PLATE 4 PLACES ,,-~\\\\
) _ ()
S— #8-32UNC SCREW TIGHTEN &)

] SECURELY TO ANT|-VANDAL

PLATE MOUNTING POSTS
2 PLACES

.
I
I

ROSE, SCREW SECURELY ONTO |
I
I
|
I
|
I
I
I
I

TURN ASSEMBLY

0/S LOCK BE e ADAPTER AND PLATE ASSEMBLY
FRONT 8200 APPLICATION SHOWN.
u:] SPINDLE, INSERT INTO

|

|

| 2* DIA ROSE
: LN DESIGN SHOWN
I

/f—LEVER HANDLE OR KNOB

¢q6¥’LOKK'IRUNT —

= 1.795 7.968

VA BN
|
: E — —_ ALARARASE — //'“ _‘l \ ‘
g e s I \\+7 ! 7
] = - =% [J | \\\\_ | 3.982
“““““““ -
°t i
] = = === | £ /R I
] &/
| /]
7/16* DIA #6-32UNC_SCREW = =t— 2 .750 BACKSET
HANDLE SET SCREW
INSIDE LEVER HANDLE OR KNOB INSERT FULLY

CILEARANCE HOLE TIGHTEN SECURELY TO ADAPTER
REQUIRED THRU AND PLATE ASSEMBLY THRU ROSE

ONTO ADAPTER AND PLATE ASSEMBLY AND SECURE
WITH HANDLE SET SCREW.

]

DOOR 4 PLACES. FOR SN AND SL TRIM ONLY

ADAPTER AND
PLATE ASSEMBLY

OUTSIDE OF DOOR
SPRING, INSERT INTO LEVER HANDLE OR KNOB

INSIDE OF DOOR

NOTES : SARGENT & COMPANY NEW HAVEN, CONM, 06511
1. FOR 7800,/8200 USE IN CONJUNCTION WITH TEMPLATE #7057 (LOCKBODY).
2. FOR 9200 USE IN CONJUNCTION WITH TEMPLATE #4482 (LOCKBODY). EMPLATE : 7800/8200/8200 MORT1SE Lock | oo
3. SUITABLE REINFORCEMENT REQUIRED FOR MOUNTING TRIM SCREWS. CR,E.L.LN,O,SL,SN,TR DES!GN FEBOS
' ROSE TRIM TEPLET NG 4555 B




